
Component 4, Unit 5

Multiple Choice Questions and Answers:
1.
You request the _______ to bring up your word processor.
	a.
	word processing package
	c.
	application software for Personal efficiency

	b.
	application software for a Specific purpose
	d.
	operating system


2.
To create a business letter you would most likely use _______.

	a.
	an operating system
	c.
	application software for Personal efficiency

	b.
	application software for a Specific purpose
	
	


3.
iPhone OS is an example of _______.

	a.
	A machine-based or independent Operating system
	c.
	Server-based operating system

	b.
	Mobile-based or embedded operating system
	d.
	Personal efficiency software




4.
Windows Server 2008 is an example of _______.

	a.
	A machine-based or independent Operating system
	c.
	Server-based operating system

	b.
	Mobile-based or embedded operating system
	d.
	Personal efficiency software




5.
Mac OS is an example of _______.

	a.
	A machine-based or independent Operating system
	c.
	Server-based operating system

	b.
	Mobile-based or embedded operating system
	d.
	Personal efficiency software




6.
Machine code is a _______ language.

	a.
	binary
	c.
	scripting 

	b.
	legacy
	d.
	object oriented 


7.
Assembler is a _______ language.

	a.
	binary
	c.
	scripting 

	b.
	legacy
	d.
	Low-level 


8.
COBOL is a _______ language.

	a.
	binary
	c.
	scripting 

	b.
	legacy
	d.
	object oriented 


9.
An Applet is an example of a _______ language.

	a.
	binary
	c.
	scripting 

	b.
	legacy
	d.
	object oriented 


10.
SQL is a _______ language.

	a.
	binary
	c.
	scripting 

	b.
	data oriented language
	d.
	object oriented 


11.
Java is a(n)  _______ language.

	a.
	binary
	c.
	scripting 

	b.
	legacy
	d.
	object oriented 


12.
Which of the following is not a reason for the diversity of languages?
	a.
	Different languages for different purposes
	c.
	Different world cultures have their own computer languages

	b.
	New languages to take advantage of new features
	d.
	Legacy languages tend to stick around

 


13.
Which of the following is not a step in the SDLC?
	a.
	Implementation
	c.
	Testing

	b.
	Translation into machine code
	d.
	Requirements Analysis 


14.
The testing phase of the SDLC can involve all but the following.

	a.
	Formal walkthrough of design
	c.
	System tests of program in context with other programs

	b.
	Translation into machine code
	d.
	Program unit test


15.
The requirements analysis phase of the SDLC can involve all but the following.

	a.
	Writing programming code
	c.
	Examining a report

	b.
	Talking to users
	d.
	Analysis of a form


16.
The half-life of software has the most effect on what phase of a program’s life cycle.

	a.
	Design
	c.
	Obsolescence

	b.
	Implementation
	d.
	Maintenance


17.
Flowcharting is an example of a(n) ____________ design tool.

	a.
	sequential
	c.
	text-based

	b.
	object 
	d.
	graphical 


18.
Pseudocode is an example of a(n) ____________ design tool.

	a.
	sequential
	c.
	text-based

	b.
	object 
	d.
	graphical 


19.
UML is an example of a(n) ____________ design tool.

	a.
	sequential
	c.
	text-based

	b.
	object 
	d.
	graphical 


20.
Unconditional branching is used in  ____________.

	a.
	spaghetti code
	c.
	top down design

	b.
	structured code 
	d.
	mandatory code


21.
Which of the following is a translation process that translates and executes one statement at a time?
	a.
	Sequential
	c.
	Interpreter

	b.
	Compiler 
	d.
	Structured execution 


22.
Which of the following is a translation process that translates an entire program and creates an executable module?

	a.
	Sequential
	c.
	Interpreter

	b.
	Compiler 
	d.
	Structured execution 


23.
Which type of error may require a programmer to redo their pseudocode solution? 

	a.
	logic
	c.
	misspelled word

	b.
	missing keyword
	d.
	syntax


24.
An infinite loop is what type of error? 

	a.
	logic
	c.
	misspelled word

	b.
	missing keyword
	d.
	syntax


25.
A syntax error is most like a ___________. 

	a.
	run on sentence
	c.
	loop process that has no way to end

	b.
	standing in two lines at once
	d.
	improper sequence of events


26.
A thorough testing phase will catch ___________. 

	a.
	all errors
	c.
	most common, but not all possible errors

	b.
	about half of possible errors
	d.
	all logic errors


27.
The consequences of an error in a health care application _____________. 

	a.
	can result in loss of life
	c.
	is negligible because it can always be done over

	b.
	is comparable to other industries
	d.
	may make it necessary to work overtime


28.
A variable in programming  __________. 

	a.
	is something that can cause a logic error in a program at random times
	c.
	is a logic construct that changes an outcome depending on circumstances

	b.
	is a name given to a place in the memory of the computer
	d.
	is a compile error caused by a logic error


29.
A value that cannot be changed while a program is running is called a ________. 

	a.
	variable
	c.
	array

	b.
	constant
	d.
	passed variable


30.
Data that cannot be derived is called  ________ data. 

	a.
	variable
	c.
	primary

	b.
	secondary
	d.
	passed 


31.
Data that can be derived is called  ________ data. 

	a.
	variable
	c.
	primary

	b.
	secondary
	d.
	passed 


32.
Variable names are associated with values in  ________. 

	a.
	a database
	c.
	windows

	b.
	files
	d.
	memory 


33.
Repetitive data can be stored in a(n)  ________. 

	a.
	array 
	c.
	assemblage

	b.
	repository 
	d.
	order 


34.
The kind of data stored in memory is described to the computer as a  ________. 

	a.
	memory location
	c.
	primary value

	b.
	data type
	d.
	data group 


35.
The character set of A-Z is contained in what data type? 

	a.
	numeric and alphabetic
	c.
	numeric

	b.
	numeric and alphanumeric
	d.
	alphabetic and alphanumeric 


36.
The character set of 0-9 is contained in what data type? 

	a.
	numeric and alphabetic
	c.
	alphabetic

	b.
	numeric and alphanumeric
	d.
	alphabetic and alphanumeric 


37.
Which data type is used more often in programming for A-Z? 

	a.
	numeric 
	c.
	alphanumeric

	b.
	literal
	d.
	alphabetic


38.
The number of minutes in a day (24 hour period) is a good candidate for being declared as a _______? 

	a.
	constant  
	c.
	variable

	b.
	literal
	d.
	secondary data


39.
A structured programming language statement could possibly be used for all but which of the following ? 

	a.
	Statements that define variables, constants, and files
	c.
	Unconditionally branch to another statement

	b.
	Statements that execute code repetitively
	d.
	Statements that assign values to variables


40.
A programming logic construct that may either do something or not based on a conditional test is known by all but which of the following? 

	a.
	Selection
	c.
	If-Then-Else

	b.
	Choice
	d.
	Alternation


41.
A programming logic construct that executes code over and over again while or until a certain condition test is satisfied is known by all but which of the following? 

	a.
	Continue
	c.
	Iteration

	b.
	Repetition
	d.
	Looping


42.
Most (if not all) scientific, business, industry, health care and personal use computer problems can be solved with just the three following logic constructs.

	a.
	Continue, Choice and Steps
	c.
	Alternation, Sequence and Iteration

	b.
	Recursion, Concurrency and Execution 
	d.
	Conditional branch, Unconditional branch and Perform


43.
Two processes that are executed at the same time are said to be executed _________. 

	a.
	in unison 
	c.
	independently

	b.
	together
	d.
	concurrently


44.
A programming logic construct that potentially executes code multiple times and contains a clear conditional test that terminates the execution is __________. 

	a.
	Selection
	c.
	Alternation

	b.
	Concurrency
	d.
	Iteration


45.
A programming logic construct that executes code one statement after the other as they are written in the program is called _____________. 

	a.
	Sequence
	c.
	Alternation

	b.
	Concurrency
	d.
	Iteration


46.
A programming logic construct that provides for exclusive options of code to be executed is called __________. 

	a.
	Sequence
	c.
	Alternation

	b.
	Concurrency
	d.
	Iteration


47.
A form of a programming logic construct that only evaluates a conditional test based on the results of a prior conditional test is called which of the following? 

	a.
	Nested alternation
	c.
	Case structure alternation

	b.
	Simple alternation
	d.
	Compound alternation


48.
A form of a programming logic construct that evaluates more than one conditional test and uses either an AND or an OR operator to connect the conditional tests is called which of the following? 

	a.
	Nested alternation
	c.
	Case structure alternation

	b.
	Simple alternation
	d.
	Compound alternation


49.
A form of a programming logic construct that involves more than two exclusive options and that doesn’t involve an AND or an OR operator is called which of the following? 

	a.
	Nested alternation
	c.
	Case structure alternation

	b.
	Simple alternation
	d.
	Compound alternation


50.
A form of a programming logic construct that involves one conditional test or at most two exclusive options and that doesn’t involve an AND or an OR operator is called which of the following? 

	a.
	Nested alternation
	c.
	Case structure alternation

	b.
	Simple alternation
	d.
	Compound alternation


51.
A form of a programming logic construct that involves more than two exclusive options and that doesn’t involve an AND or an OR operator is called which of the following? 

	a.
	Nested alternation
	c.
	Case structure alternation

	b.
	Simple alternation
	d.
	Compound alternation


52.
A form of a programming logic construct that potentially executes code multiple times, but also may not execute the code at all is called which of the following? 

	a.
	Pre-test loop
	c.
	Endless loop

	b.
	Post-test loop
	d.
	Periodic


53.
A form of a programming logic construct that potentially executes code multiple times and must execute the code at least once is called which of the following? 

	a.
	Pre-test loop
	c.
	Endless loop

	b.
	Post-test loop
	d.
	Periodic


54.
A logic error that executes code repetitively and limitlessly? 

	a.
	Pre-test loop
	c.
	Endless loop

	b.
	Post-test loop
	d.
	Continuous


55.
When considering object oriented languages what is the best reason to break up code into modules? 

	a.
	Manageable “chunks” of code
	c.
	Structured design

	b.
	Subtasks
	d.
	Strong cohesive code with loose coupling


56.
A module with strong cohesive code with loose coupling is a candidate to become ____________? 

	a.
	a method of an object
	c.
	a module within the application code

	b.
	an independent module
	d.
	A restricted use module


57.
A statement that jumps to another module without any strings attached as to what to do when the machine is finished executing the invoked module illustrates what kind of branching? 

	a.
	Conditional branching
	c.
	Modular structure branching

	b.
	Unconditional branching
	d.
	Blind branching


58.
A statement that jumps to another module with a string attached that demands execution be returned to the branch-from module after execution of the branched-to module is completed illustrates what kind of branching? 

	a.
	Conditional branching
	c.
	Modular structure branching

	b.
	Unconditional branching
	d.
	Blind branching


59.
Which form of branching is conducive to structured design? 

	a.
	Conditional branching
	c.
	Modular structure branching

	b.
	Unconditional branching
	d.
	Blind branching


60.
Another name for  unconditional branching is ____________. 

	a.
	endless loop
	c.
	GoTo

	b.
	Spaghetti 
	d.
	Blind branching


61.
In object oriented programming the design of something that a user wants to keep track of is called a _________. 

	a.
	class
	c.
	module

	b.
	object
	d.
	subtask


62.
Which of the following is a design tool used to design objects? 

	a.
	pseudocode
	c.
	UML

	b.
	Warnier/Orr
	d.
	Flowcharting


63.
A class can contain which of the following? 

	a.
	Variables and modules
	c.
	Domains and literals

	b.
	A customer’s name like “Sam Jones”
	d.
	Attributes and methods


64.
What is the process of creating an object of a class called? 

	a.
	Conditional branching
	c.
	Productizing

	b.
	Instantiation
	d.
	Cookie cutter stamping


65.
The things that an object can do are referred to as ________. 

	a.
	methods 
	c.
	variables 

	b.
	attributes 
	d.
	modules
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